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1 7 l
34 +56 v 3 v 9 T3
2 2
ey =
+7 +19 +44
5 +{ +23
-
3 8
+h-o— | 1255~ | -20 +14 183
Write the length in inches. Itis 84 degrees Fahrenheit

outside. What would you 10
wear if you are going X | 2
outside?

|III|III|I|I|III|III|III|I|I|III|III|III|III|III|

"1 2 3 4 5 6

How many ninths are in 4?

IfO=4then6+0= 89
- 86
Write an even number with a Write the length in centimeters. 9 4
- 33

four in the thousands place.

My 2 3 4 5 6
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How old is everyone else?

younger than Megan. David is 18 years old.

" Erinist year older than Gavin. Gavin is 7 years younger than Megan. David is 4 years

(10 x (1L +1))

\.

" Name the shape with four
sides and four angles.

I

" How much greater is 170
than 46?

" Emily has $30. She wants
to buy something that costs
$99. How much more does
she need?

"2x4=

7398+9=
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"Want to visit my farm?" asked Connor. "It's just me, my mom, my dad, my 3 sisters, my 12
spiders, my 5 chickens, and, last but not least, my 6 cats."

"Yuck, did you say 12 spiders? Seriously?" asked April.

"Yes, | did! Just answer the following math question. | didn't say these math questions
make sense," said Connor with a big smile.

How many legs where Connor lives? If it helps, humans have 2 legs (duh!), spiders have 8,

and you can figure out the rest!

What number is 435 less Subtract 203 from 654!,
than 465? 126

+ 45
Ava has 40 books. She What is 14 less than 1,7997? 2x9+1

organized them equally
into 5 boxes. How many
books in each box?

How many 4s are in 44? Round 257,49 to the nearest
hundred.
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Justin and Adam
planted pumpkins to sell
to people for their
autumn celebrations.
Their garden has 5 sides.
The sides measure 9
feet 5 inches, 6 feet 10
inches, 6 feet 3 inches,
10 feet 7 inches, and 9
feet 2 inches. What is
the perimeter of their
garden?

April went to the circus
with her father and
mother. The best part of
the circus was the clown.
He could juggle and
make people laugh at
the same time! The
tickets cost $9.99 each.
How much did it cost for
April, her father, and
her mother to go to the
circus?

Jason wants to have
fun on National Splurge
Day. He is going to the
Fun Park. He wants to
ride the Terror Train 21
times! The Terror Train
ride lasts 2 minutes and
7 seconds. If he rides it
21 times, how many
minutes wil he spend on
the Terror Train?

The month before me has
thirty-one days. The month
after me has thirty days.

Round the number to the

place value of the BIG number.

What month am 1? 336,208,537
September
August
April
December
Write the number for Which is larger, 0.6 or 0.5?
four thousand, eight 10 4 3
hundred fifty. 55 1 3
+ 22 + 22
List the first three multiples of 6. What polygon has seven
sides? 8 1
+ 80

word root VOC can mean Vvoice or call

equivocate, revocable, vocation
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XoOoXo20909050200000802080006

Use the pieces above to help you fill in the runaway math puzzle.

2
6
1
9 3 2|7
xX|3 15
5
6|x|8|=1]4
4 5
X =({0
9 0
X|1|=|6
8
What is the value Which is larger, % or % ? O bushil
of the BIG digit?
O bushel
16,340
O busunhl
O bushell

What is the ratio of boys to
girls in your class?

What number is ten thousand
more than 3,915?

current time (pm) time party starts (pm)

How long until the party?

word root pre can mean before predict, prelude
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Fil in the boxes so each line equals 12. Megan and Sara ran a race.
2 Megan came in fiftieth place.
Sara was one runners after
A Megan. Write the ordinal
0] 2 number for the place that
Sara came in.
6 | X
- 1
( +|18|) -
What are the first four
multiples of 8?
4(36 936 2[12.
Il x 12 =
9[18 832 7|35
Color 043. O aloudd Circle the even numbers.
o aloud 135 25 69 52
aou 23 42 34 67
O uhluod 138 3l 56 8l
O alou This polygon has six more

sides than a quadrilateral.
What polygon is this?

Write 128 in expanded
notation.

What is the second month
with 30 days?

8[16

word root ize can mean to make or to act

memorize, recognize, vocalize
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Se-0e5e5 e e+ e8 e8 e =0e4e2ele()ele =203

Use the pieces above to help you fill in the runaway math puzzle.

-|le[=]6]-]4
+|12|=|7 0)
- = +
3 0) 4| =
= + +
2| |6|-|4 -
2|+ 1
0)
Do you use AM. or P.M. to Write the shaded part as a decimal.
write 8:00 in the morning? CT T T T T T 1T 1 1] 1 2
+20
Which number is six hundred The sum of two whole
fifty-one? numbers is twenty-three. The 4
6501 506 65l difference between the two X 2
‘ ’ numbers is one. What are
516 these two numbers?
What are 100 tens equal to? Circle the correctly spelled words.
portch, porch, porche
unkind, unkinde, unckind
throwte, throat, throate
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a N
Alex made a box to keep his dog's treats. The box is a rectangle 10 inches long and 5
inches wide. What is the perimeter of the box?

\. J

r A
Mr. Smith is making a sign for the haunted house. The sign is 3.7 feet long and 2.3 feet
wide. What is the perimeter of the sign?

\\ »

a A
Rosa made 5 cookies for each of 4 friends. She put 8 chocolate chips in each cookie.
How many chocolate chips did she use?
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(ALLENGE YouR CLASSMaT,

(OR SIBLING o PARENy, ©

)
|!|‘

Pick your
grade. Then play
to challenge
someone else.

Date played:

Whom I challenged: Who won?

Explain what you learned from one math problem you got wrong.
r

\ J
In the equation 26 x 398 = A book has 3 pages. Each Write a 3-digit odd number.
10,348, which number is the page has Il dimes. How

product? many dimes in the book?
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Get a fidget spinner! Spin it.

I needed to spin

MathWorksheets.com
Week of January 16

time(s) to finish.

" How many hundreds are in |
the number 2,300?

\. J

"triple 1l =

.

N

" Is 757 closer to 700 or 800? |

\.

" Find the product of 8 and 5. |

\. J

" Write the number that is
one thousand more than
7.899.

\.

" Peter earns $!5 an hour.
He worked 5 hours. How
much did he make?

\. J

" Write the number thatis |

one hundred less than 7,872.

.

" 1s 23 a composite or a
prime number?

™

" How many total legs are on |
7 chickens?

\

" Circle the four numbers
whose sum equals 57.

16 15 16 17

8 6 19 5

" Write the number that has
exactly 9 tens,

I

" What number is halffway |
between 0 and 12?
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